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RATIO AND PROPORTION

1. There are 20 girls and 15 boys in a class. (a)
What is the ratio of number of girls to the

number of boys?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dFdlVGhJTDm1

° Watch Video Solution

2. There are 20 girls and 15 boys in a class. (b)
What is the ratio of number of girls to the

total number of students in the class ?

° Watch Video Solution

3. Out of 30 students in a class, 6 like football,

12 like cricket and remaining like tennis. Find


https://dl.doubtnut.com/l/_dFdlVGhJTDm1
https://dl.doubtnut.com/l/_FCaQ9Rk61r3V
https://dl.doubtnut.com/l/_WWQNazw2x880

the ratio of (a) Number of students liking

football to number of students liking tennis.

° Watch Video Solution

4. 0Out of 30 students in a class, 6 like football,
12 like cricket and remaining like tennis. Find
the ratio of (b) Number of students liking

cricket to total number of students.

o Watch Video Solution



https://dl.doubtnut.com/l/_WWQNazw2x880
https://dl.doubtnut.com/l/_HJOg8fh8P3YJ

5. See the figure and find the ratio of (a)

Number of triangles to the number of circles


https://dl.doubtnut.com/l/_RnW1mRNeKBqK

inside the rectangle.



https://dl.doubtnut.com/l/_RnW1mRNeKBqK

° Watch Video Solution

6. See the figure and find the ratio of (b)

Number of squares to all the figures inside the


https://dl.doubtnut.com/l/_RnW1mRNeKBqK
https://dl.doubtnut.com/l/_Ej6UJVYXPVNB

rectangle.

e e e e e e e ——


https://dl.doubtnut.com/l/_Ej6UJVYXPVNB

° Watch Video Solution

7. See the figure and find the ratio of (c)

Number of circles to all the figures inside the

rectangle.
e

| 4®|

o Watch Video Solution



https://dl.doubtnut.com/l/_Ej6UJVYXPVNB
https://dl.doubtnut.com/l/_dW10jqjh5rIQ

8. Distances travelled by Hamid and Akhtar in
an hour are 9 km and 12 km. Find the ratio of

speed of Hamid to the speed of Akhtar.

o Watch Video Solution

9. Fill in the  following  blanks:
15 ? 10 ?

18 6 7 30

o Watch Video Solution



https://dl.doubtnut.com/l/_k1TdninhvDxA
https://dl.doubtnut.com/l/_elyoCeYNuVtd

10. Find the ratio of the following:(a) 81 to 108

o Watch Video Solution

11. Find the ratio of the following:(b) 98 to 63

o Watch Video Solution

12. Find the ratio of the following:(c) 33 km to

121 km

o Watch Video Solution



https://dl.doubtnut.com/l/_eowCzvlpx29d
https://dl.doubtnut.com/l/_PWkUEIpj6Mwr
https://dl.doubtnut.com/l/_dRlus4GZwMc2

13. Find the ratio of the following:(d) 30

minutes to 45 minutes

o Watch Video Solution

14. Find the ratio of the following: (a) 30

minutes to 1.5 hours

o Watch Video Solution



https://dl.doubtnut.com/l/_dRlus4GZwMc2
https://dl.doubtnut.com/l/_npivezB7rW3m
https://dl.doubtnut.com/l/_fJdPFoR1U7G5

15. Find the ratio of the following: (b) 40 cm to

1.5 m

o Watch Video Solution

16. Find the ratio of the following: (c) 55 paise

to? 1

o Watch Video Solution



https://dl.doubtnut.com/l/_5z0dUT2K5cRE
https://dl.doubtnut.com/l/_cSIZvhM7HNMz

17. Find the ratio of the following: (d) 500 mL

to 2 litres

° Watch Video Solution

18.1n a year, Seema earns ¥ 1,50,000 and saves
¥ 50,000. Find the ratio of (a) Money that

Seema earns to the money she saves.

° Watch Video Solution



https://dl.doubtnut.com/l/_lje97oSLqFx7
https://dl.doubtnut.com/l/_IaJSE29yG4FO

19.In a year, Seema earns ¥ 1,50,000 and saves
¥ 50,000. Find the ratio of (b) Money that she

saves to the money she spends.

o Watch Video Solution

20. There are 102 teachers in a school of 3300

students. Find the ratio of the number of

teachers to the number of students.

o Watch Video Solution



https://dl.doubtnut.com/l/_s4iRIJojDgSI
https://dl.doubtnut.com/l/_w5KVcbl8Pron
https://dl.doubtnut.com/l/_H2VK5Sq8pRpJ

21.1n a college, out of 4320 students, 2300 are
girls. Find the ratio of (a) Number of girls to

the total number of students.

o Watch Video Solution

22.1n a college, out of 4320 students, 2300 are
girls. Find the ratio of (b) Number of boys to

the total number of girls.

o Watch Video Solution



https://dl.doubtnut.com/l/_H2VK5Sq8pRpJ
https://dl.doubtnut.com/l/_YHaCFIeN6tSB
https://dl.doubtnut.com/l/_6C3DRrB3YkIM

23.In a college, out of 4320 students, 2300 are
girls. Find the ratio of (c) Number of boys to

the total number of students.

o Watch Video Solution

24. Out of 1800 students in a school, 750
opted basketball, 800 opted cricket and
remaining opted table tennis. If a student can
opt only one game,find the ratio of (a) Number
of students who opted basketball to the

number of students who opted table tennis.

| = |


https://dl.doubtnut.com/l/_6C3DRrB3YkIM
https://dl.doubtnut.com/l/_BwiJNum7z4UD

I &9 Watch Video Solution I

25. Out of 1800 students in a school, 750
opted basketball, 800 opted «cricket and
remaining opted table tennis. If a student can
opt only one game,find the ratio of (b)
Number of students who opted cricket to the

number of students opting basketball.

o Watch Video Solution



https://dl.doubtnut.com/l/_BwiJNum7z4UD
https://dl.doubtnut.com/l/_XDxFMJG7nQSI

26. Out of 1800 students in a school, 750
opted basketball, 800 opted cricket and
remaining opted table tennis. If a student can
opt only one game,find the ratio of ( ¢)
Number of students who opted bsketball to

the total number of students.

o Watch Video Solution

27. Cost of a dozen pens is ¥180 and cost of 8

ball pens is ¥56. Find the ratio of the cost of a


https://dl.doubtnut.com/l/_j3YTNS2w2Xkp
https://dl.doubtnut.com/l/_psqC6EY4F07a

pen to the cost of a ball pen.

o Watch Video Solution

28. Consider the statement: Ratio of breadth
and length of a hall is 2 : 5. Complete the
following table that shows some possible

breadths and lenghts of the hall.

° Watch Video Solution



https://dl.doubtnut.com/l/_psqC6EY4F07a
https://dl.doubtnut.com/l/_grSJOdYs9IPW

29. Divide 20 pens between Sheela and

Sangeeta in the ratio of 3 : 2.

o Watch Video Solution

30. Mother wants to divide ¥36 between her
daughters Shreya and Bhoomika in the ratio of
their ages. If age of Shreya is 15 years and age

of Bhoomika is 12 years, find how much Shreya


https://dl.doubtnut.com/l/_GILEvA7akUEZ
https://dl.doubtnut.com/l/_5Y8IU3MrXYs2

and Bhoomika will get.

° Watch Video Solution



https://dl.doubtnut.com/l/_5Y8IU3MrXYs2

31. Present age of father is 42 years and that
of his son is 14 years. Find the ratio of (a)
Present age of father to the present age of

son.

o Watch Video Solution

32. Present age of father is 42 years and that
of his son is 14 years. Find the ratio of (b) Age
of the father to the age of son, when son was

12 years old.

| & I


https://dl.doubtnut.com/l/_xFZoCycugy4W
https://dl.doubtnut.com/l/_TvQb1cz2bghJ

| ¥ Watch Video Solution |

33. Present age of father is 42 years and that
of his son is 14 ears. Find the ratio of ( c) Age
of father after 10 years to the age of son after

10 years.

o Watch Video Solution

34. Present age of father is 42 years and that

of his son is 14 years. Find the ratio of (d) Age


https://dl.doubtnut.com/l/_TvQb1cz2bghJ
https://dl.doubtnut.com/l/_rlJ3sMUiVEaG
https://dl.doubtnut.com/l/_JcBNHGeI23fS

of father to the age of son when father was 30

years old.

° Watch Video Solution

35. Determine if the follwing are in proportion.

(a) 15,45,40,120

o Watch Video Solution

36. Determine if the follwing are in proportion.

(b) 33,121,9,96


https://dl.doubtnut.com/l/_JcBNHGeI23fS
https://dl.doubtnut.com/l/_q1O6ZW857RRK
https://dl.doubtnut.com/l/_uwHBlSoBPIXG

° Watch Video Solution

37. Determine if the follwing are in proportion.

(c) 24,2836,48

o Watch Video Solution

38. Determine if the following are in

proportion. (d) 32,48,70,210

° Watch Video Solution



https://dl.doubtnut.com/l/_uwHBlSoBPIXG
https://dl.doubtnut.com/l/_fzko46Jc5Lnm
https://dl.doubtnut.com/l/_QDcIoD4czrnj
https://dl.doubtnut.com/l/_xF6gO7AMOkO5

39. Determine if the follwing are in proportion.

(e) 4,6,8,12

o Watch Video Solution

40. Determine if the follwing are in proportion.

(f) 33,44,75,100

° Watch Video Solution



https://dl.doubtnut.com/l/_xF6gO7AMOkO5
https://dl.doubtnut.com/l/_znSKQ4XUYrzJ

41. Write True ( T) or False ( F) against each of

the following statements :(a) 16: 24 :: 20 : 30

° Watch Video Solution

42. Write True ( T) or False ( F) against each of

the following statements :(b) 21:6::35: 10

o Watch Video Solution



https://dl.doubtnut.com/l/_1iLq7utk8vHc
https://dl.doubtnut.com/l/_sVxnbPoLIeNP

43. Write True ( T) or False ( F) against each of

the following statements :(c) 12: 18 :: 28 : 12

° Watch Video Solution

44, \Write True ( T) or False ( F) against each of

the following statements :(d) 8: 9:: 24 : 27

o Watch Video Solution



https://dl.doubtnut.com/l/_lRbXkcp4Fwd8
https://dl.doubtnut.com/l/_wB3jFQ0RHAfo

45, Write True ( T) or False ( F) against each of

the following statements :(e) 5.2:3.9::3: 4

° Watch Video Solution

46. Write True ( T) or False ( F) against each of

the following statements :(f) 0.9:0.36::10: 4

o Watch Video Solution



https://dl.doubtnut.com/l/_q532uP6R8H6o
https://dl.doubtnut.com/l/_yQh9vZwDRwad

47. Are the following statements true ? (a) 40

persons : 200 persons =315:%75

o Watch Video Solution

48. Are the following statements true ? (b) 7.5

litres : 15 litres = 5 kg : 10 kg

o Watch Video Solution



https://dl.doubtnut.com/l/_3BWgGHLx1Y4i
https://dl.doubtnut.com/l/_SIjv5oChgJcP

49, Are the following statements true ? ( ¢) 99

kg : 45 kg =% 44 :320

o Watch Video Solution

50. Are the following statements true ?(d) 32

m:64 m=6sec: 12 sec

o Watch Video Solution



https://dl.doubtnut.com/l/_HznkeHytYEKb
https://dl.doubtnut.com/l/_jaMSHlcYc6df

51. Are the following statements true ? (e) 45

km : 60 km =12 hours : 15 hours

° Watch Video Solution

52. Determine if the following rations form a
proportion. Also, write the middle terms and
extreme terms where the rations form a

proportion.(a) 25cm: 1mand ¥ 40:3160

o Watch Video Solution



https://dl.doubtnut.com/l/_3WeXKffEPWGl
https://dl.doubtnut.com/l/_uB1cC9nILyTL
https://dl.doubtnut.com/l/_mbWeIIEOnFz8

53. De termine if the following rations form a
proportion. Also, write the middle terms and
extreme terms where the rations form a
proportion. (b) 39 litres : 65 litres and 6

bottles : 10 bottles

o Watch Video Solution

54. Determine if the following rations form a
proportion. Also, write the middle terms and
extreme terms where the rations form a

proportion.(c)2kg:80kgand 25g:625¢g


https://dl.doubtnut.com/l/_mbWeIIEOnFz8
https://dl.doubtnut.com/l/_ZGGWNZsyv7oT

° Watch Video Solution

55. Determine if the following rations form a
proportion. Also, write the middle terms and
extreme terms where the rations form a

proportion. (d) 200 mL: 2.5 litre and ¥4 : ¥ 50

o Watch Video Solution

56. If the cost of 7 m of cloth is ¥ 1470, find the

cost of 5 m of cloth.

| e |


https://dl.doubtnut.com/l/_ZGGWNZsyv7oT
https://dl.doubtnut.com/l/_PKuqOYDX2rzD
https://dl.doubtnut.com/l/_dzMqLaFbGx1C

& Wwatch Video Solution I

57. Ekta earns ¥3000 in 10 days. How much will

she earn in 30 days ?

o Watch Video Solution

58. If it has rained 276 mm in the last 3 days,
how many cm of rain will fall in one full week (
7 days ) ? Assume that the rain continues to

fall at the same rate.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_dzMqLaFbGx1C
https://dl.doubtnut.com/l/_60bGNHDpXUzL
https://dl.doubtnut.com/l/_qItyXc1w7hIw

59. Cost of 5 kg wheat is ¥91.50. (a) What will

be the cost of 8 kg of wheat ?

o Watch Video Solution

60. Cost of 5 kg wheat is ¥91.50. (b) What

quanitty of wheat can be purchased in 3183 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_qItyXc1w7hIw
https://dl.doubtnut.com/l/_vRyklRWGBp2m
https://dl.doubtnut.com/l/_mhbNVi3QxARs

61. The temperature dropped 15 degree celsius
in the last 30 days. If the rate of temperature
drop remains the same, how many degrees will

the temperature droop in the next ten days?

o Watch Video Solution

62. Shaina pays ¥15000 as rent for 3 monts.
How much does she has to pay for a whole

year, if the rent per month remains same?

o Watch Video Solution



https://dl.doubtnut.com/l/_0tyK6FzRoUou
https://dl.doubtnut.com/l/_SrG8XTR8jgr2

63. Cost of 4 dozen bananas is ¥180. How many

bananas can be purchased for ¥907

o Watch Video Solution

64.The weight of 72 books in 9 kh. What is the

weight of 40 such books?

° Watch Video Solution



https://dl.doubtnut.com/l/_SrG8XTR8jgr2
https://dl.doubtnut.com/l/_Axwfwcjw25jk
https://dl.doubtnut.com/l/_o28vUS9prNkZ

65. A truck requires 108 litres of diesel for
covering a distance of 594 km. How much
diesel will be required by the truck to cover a

distance of 1650 km?

° Watch Video Solution

66. Raju purchases 10 pens for ¥150 and
Manish buys 7 pens for ¥84. Can you say who

got the pens cheaper?

° Watch Video Solution



https://dl.doubtnut.com/l/_r1fVOs4SYFGv
https://dl.doubtnut.com/l/_DLWIJrDzNs8D

67. Anish made 42 runs in 6 overs and Anup
made 63 runs in 7 overs. Who made more runs

per over ?

° Watch Video Solution



https://dl.doubtnut.com/l/_DLWIJrDzNs8D
https://dl.doubtnut.com/l/_L6iRsrPnMADe

